Limit Laws

lime = ¢ where c isany constant

r—a

limz = a

r—a

limz” = o wheren isapositive integer

r—a

limy/z = y/a  wheren isapositive integer
(If n iseven, assumethat a > 0.)

Suppose that lim f () and limg(z) exist. Then,

r—a

lim[f(z) +g(z)] = limf(z) + limg(z)
lim[f(x) — g(x)] = limf(z) — limg(x)

r—a r—a r—a

lim[cf(x)] = ¢ limf(x) wherec isany constant

lim{f(z)g(a)] = lim(2) - limg()
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lim{ £ (x)]" = [mﬂx)}" where n isa positive integer

limy/ f(x) = »/ limf(x) wheren isapositive integer
r—a r—a

(If n iseven, assumethat limf(x) > 0.)

r—a

If fisapolynomial or arational function and a isin the domain of f, then

lim/ () = f(a)



